

Addendum # 1

BID #2023-01, Parkway Tree Trimming Services

Date Issued:

January 18, 2023

Issued By:

Jeff Moline, Woodridge Public Works

Addendum #:

1

POSTED:

12:00pm, January 18, 2023

Request for Information / Clarification to the Bid Specification

- 1. The page numbering is formatted incorrectly in BID 2023-01. All Pages are included in BID 2023-01 as posted, but the document does begin on Page 27, rather than Page 1.
- 2. "Please provide the bid tabulations for the parkway tree trimming that the village is currently working under."

RESPONSE:

The most recent Parkway Tree Trimming Bid was Woodridge BID 2022-03 for the 2022 Trimming Program. There were two bids submitted for the 2022 program. The submittals are attached as Exhibit 1 to this Addendum #1.

VILLAGE OF WOODRIDGE

BID# 2022-03, PARKWAY TREE TRIMMING SERVICES

BID DEADLINE/OPEN AND READ DATE: Tuesday - 11:30am - February 1, 2022, Woodridge Village Hall, 5 Plaza Drive, Woodridge IL

Staff Present:		Jeff Moline - Public Works; Traci Marrocco · Finance; Scott Sramek - Public Works;		
Publ	c/Contractors Present:			
世	Contractor/Bidder	Bid Certificate	Base Bid	
, Davey	Tree	X	103,752.00	
2 D Rya	Tree: Landscape	X	103, 752.00 28, 896-00	
3				
4				
5				
6				

3. "There is a second map at the end of BID 2023-01. What is this for?"

RESPONSE:

The second map at the end of the document was last year's map and was included by mistake. The correct map is within the document on Page 47.

4. "Does the Village require the bidder to have a certified arborist?"

RESPONSE:

Yes. The Contractor must have a certified arborist and the name and certification number must be included in the bid document as per *Section II*, *Specifications*, II - H (*Page 46*), which states:

"H. CERTIFIED ARBORIST/IDOA COMPLIANCE An Arborist certified by the International Society of Arboriculture must be on the job site at all times. Their name(s) and certification number(s) shall be included in the bid document. Failure to have a certified arborist on site at all times may result in termination of the contract at the discretion of the Village..."

Name and Title: (Please Print)	
Signature:Date:	
Name of Company:	

0.7	BASE WORK AREA				
#	Street Address	Approx. # of Trees	Unit Price	Estimated Total	
1	76th Street	17	\$ 24-	\$ 408.00	
2	83rd Street	53	\$ 24-	\$ 1272.00	
3	Andrea Court	4	\$ 24-	\$ 94.00	
4	Bern Court	5	\$ 24-	\$ 120.00	
5	Brentwood Court	9	\$ 24-	\$ 216.00	
6	Briarwood Court	9	\$ 24-	\$ 216.00	
7	Butternut Court	12	\$ 24-	\$ 288.00	
8	Canterbury Lane	7	\$ 24-	\$ 16800	
9	Carolwood Lane	50	\$ 24-	\$ 1200.00	
10	Catalpa Avenue	39	\$ 24-	\$ 936.00	
11	Chestnut Avenue	6	\$ 24-	\$ 144.00	
12	Clarendon Lane	8	\$ 24-	\$ 192.00	
13	Crabtree Avenue	33	\$ 24-	\$ 792.00	
14	Davos Avenue	16	\$ 24-	\$ 384.00	
15	Deerfield Avenue	25	\$ 24-	\$ 600.00	
16	Deerwood Court	6	\$ 24-	\$ 144.00	
17	Eastwood Lane	25	\$ 24-	\$ 600.00	
18	Edgewood Court	2	\$ 24-	\$ 48.00	
19	Edgewood Parkway	59	\$ 24-	\$ 1416.00	
20	Elm Lane	14	\$ 24-	\$ 336.00	
21	Everglade Avenue	70	\$ 24-	\$ 1680.00	
22	Evergreen Lane	4	\$ 24-	\$ 94.00	
23	Forest Glen Parkway	46	\$ 24-	\$ 1104.00	
24	Frontage Road	17	\$ 24-	\$ 408.00	
25	Gatewood Lane	15	\$ 24-	\$ 360.00	
26	Geneva Street	40	\$ 24-	\$ 960.00	
27	Iroquois Court	12	\$ 24-	\$ 288.00	
28	Jonquil Lane	70	\$ 24-	\$ 1L8D.DD	
29	Larchwood Lane	12	\$ 24-	\$ 288.00	
30	Laurel Court	5	\$ 24-	\$ 120.00	
31	Leawood Court	1	\$ 24-	\$ 24.00	
32	Leawood Lane	23	\$ 24-	\$ 55.2.00	

33	Lindenwood Lane	22	\$ 24-	\$ 528.00
34	Luzern Court	19	\$ 24-	\$ 450.00
35	Meadowdale Lane	35	\$ 24-	\$ 840.00
36	Mourning Dove Court	9	\$ 24-	\$ 216.00
37	Norwood Court	16	\$ 24-	\$ 384.00
38	Oak Leaf Court	1	\$ 24-	\$ 24.00
39	Oakview Lane	25	\$ 24-	\$ 600.00
40	Parkwood Lane	6	\$ 24-	\$ 144.00
41	Peterson Court	6	\$ 14-	\$ 144.00
42	Rosewood Court	10	\$ 24-	\$ 240.00
43	Scenicwood Lane	36	\$ 24-	\$ 864.00
44	Shelley Court	14	\$ 24-	\$ ठेठे४.००
45	Sprucewood Avenue	29	\$ 24-	\$ 696.00
46	Walnut Avenue	21	\$ 24-	\$ 504.00
47	Westridge Drive	10	\$ 24-	\$ 240.00
48	Westview Lane	65	\$ 24-	\$ 1560.00
49	Whispering Oaks Lane	10	\$ 24-	\$ 240.00
50	Willow Avenue	14	\$ 24-	\$ 336.00
51	Willow Court	2	\$ 24-	\$ 48.00
52	Woodridge Drive	80	\$ 24-	\$ 1920.00
53	Woodview Drive	19	\$ 24-	\$ 461.00
54	Zurich Court	20	\$ 24-	\$ 480.00
55	Zurich Lane	21	\$ 24-	\$ S04.00
	TOTAL	1204		\$ 28,891.00

ADDITIONAL OPTIONAL WORK

Item	Category	Description	Cost
1a	Tree Removal Services	Cost per D.B.H	4 -
	(during the period of March 1, 2022 to	(Non-Prevailing Wage)	728
	December 31, 2022)		
1b	Tree Removal Services	Cost per D.B.H	
	(during the period of March 1, 2022 to	(Prevailing Wage Rate)	# 58
	December 31, 2022).		' 3 '
	Removal performed in conjunction with		
	Public Works Project, i.e., Infrastructure		
	repair.		3

EXHIBIT 1

Tree Removal Services *	Stump Grinding *	125
Tree Removal Services * Removal performed in conjunction with Public Works Project, i.e., Infrastructure repair.	Stump Grinding * (Prevailing Wage)	*175
Emergency Tree Service	Cost per Man-hour	\$ 125
Emergency Tree Service	Equipment Cost	a ₁₂₅ -
Private Participation Program – Tree Trimming	Unit Cost	385
Private Participation Program – Tree Removal	Cost per D.B.H	*34-
Private Participation Program – Stump Grinding *	Stump Grinding	\$150
	Tree Removal Services * Removal performed in conjunction with Public Works Project, i.e., Infrastructure repair. Emergency Tree Service Emergency Tree Service Private Participation Program — Tree Trimming Private Participation Program — Tree Removal Private Participation Program —	Tree Removal Services * Removal performed in conjunction with Public Works Project, i.e., Infrastructure repair. Emergency Tree Service Cost per Man-hour Emergency Tree Service Equipment Cost Private Participation Program — Tree Trimming Private Participation Program — Cost per D.B.H Tree Removal Private Participation Program — Stump Grinding * Cost per Man-hour Cost Unit Cost Cost per D.B.H Tree Removal Stump Grinding

^{*} Unless otherwise noted this cost shall be considered to be a flat rate

NOTE: Prices shall remain firm from date of contract award to December 31, 2022.

		BASE WORK AREA		
#	Street Address	Approx. # of Trees	Unit Price	Estimated Total
1	76th Street	17	\$ 79.41	\$ 1,350
2	83rd Street	53	\$ 172.64	\$ 9,150
3	Andrea Court	4	\$ 37.5	\$ 150
4	Bern Court	5	\$ 30	\$ 150
5	Brentwood Court	9	\$ 108.33	\$ 675
6	Briarwood Court	9	\$ 108.33	\$ 675
7	Butternut Court	12	\$ 68.75	\$ 825
8	Canterbury Lane	7	\$ 96.42	\$ 675
9	Carolwood Lane	50	\$ 54	\$ 2,700
10	Catalpa Avenue	39	\$ 69	\$ 2,700
11	Chestnut Avenue	6	\$ 75	\$ 450
12	Clarendon Lane	8	\$ 37.5	\$ 300
13	Crabtree Avenue	33	\$ 72.72	\$ 2,400
14	Davos Avenue	16	\$ 56.25	\$ 900
15	Deerfield Avenue	25	\$ 72	\$ 1,800
16	Deerwood Court	6	\$ 125	\$ 750
17	Eastwood Lane	25	\$ 93	\$ 2,325
18	Edgewood Court	2	\$ 37.5	\$ 75
19	Edgewood Parkway	59	\$ 96.61	\$ 5,700
20	Elm Lane	14	\$ 107.14	\$ 1,500
21	Everglade Avenue	70	\$ 85.71	\$ 6,000
22	Evergreen Lane	4	\$ 75	\$ 300
23	Forest Glen Parkway	46	\$ 88.04	\$ 4,050
24	Frontage Road	17	\$ 52.94	\$ 900
25	Gatewood Lane	15	\$ 85	\$ 1,275
26	Geneva Street	40	\$ 75	\$ 3,000
27	Iroquois Court	12	\$ 81.25	\$ 975
28	Jonquil Lane	70	\$ 79.28	\$ 5,550
29	Larchwood Lane	12	\$ 93.75	\$ 1,125
30	Laurel Court	5	\$ 45	\$ 225
31	Leawood Court	1	\$ 1	\$ 1
32	Leawood Lane	23	\$ 69.56	\$ 1,600

33	Lindenwood Lane	22	\$ 78.40	\$ 1,725
34	Luzern Court	19	\$ 75	\$ 1,425
35	Meadowdale Lane	35	\$ 64.28	\$ 2.250
36	Mourning Dove Court	9	\$ 83.33	\$ 750
37	Norwood Court	16	\$ 37.5	\$ 600
38	Oak Leaf Court	1	\$ 1	\$ 1
39	Oakview Lane	25	\$ 84	\$ 2,100
40	Parkwood Lane	6	\$ 50	\$ 300
41	Peterson Court	6	\$ 150	\$ 900
42	Rosewood Court	10	\$ 50	\$ 500
43	Scenicwood Lane	36	\$ 56.94	\$ 2,050
44	Shelley Court	14	\$ 182.14	\$ 2,550
45	Sprucewood Avenue	29	\$ 122.41	\$ 3,550
46	Walnut Avenue	21	\$ 57.14	\$ 1,200
47	Westridge Drive	10	\$ 50	\$ 500
48	Westview Lane	65	\$ 76.15	\$ 4,950
49	Whispering Oaks Lane	10	\$ 112.5	\$ 1,125
50	Willow Avenue	14	\$ 96.42	\$ 1,350
51	Willow Court	2	\$ 75	\$ 150
52	Woodridge Drive	80	\$ 118.12	\$ 9,450
53	Woodview Drive	19	\$ 59.21	\$ 1,125
54	Zurich Court	20	\$ 150	\$ 3,000
55	Zurich Lane	21	\$ 92.85	\$ 1 ,950
	TOTAL	1204	86.17	\$ 103,752

ADDITIONAL OPTIONAL WORK

Item	Category	Description	Cost
1a	Tree Removal Services	Cost per D.B.H	
	(during the period of March 1, 2022 to	(Non-Prevailing Wage)	N/A
	December 31, 2022)		
1b	Tree Removal Services	Cost per D.B.H	
	(during the period of March 1, 2022 to	(Prevailing Wage Rate)	
	December 31, 2022).		N/A
	Removal performed in conjunction with		
	Public Works Project, i.e., Infrastructure		
	repair.		

DAVEY Tree Experts (2 of 3)

1c	Tree Removal Services *	Stump Grinding *	N/A
1d	Tree Removal Services * Removal performed in conjunction with Public Works Project, i.e., Infrastructure repair.	Stump Grinding * (Prevailing Wage)	N/A
2a	Emergency Tree Service	Cost per Man-hour	N/A
2b	Emergency Tree Service	Equipment Cost	N/A
3a	Private Participation Program – Tree Trimming	Unit Cost	N/A
3b	Private Participation Program – Tree Removal	Cost per D.B.H	N/A
3c	Private Participation Program – Stump Grinding *	Stump Grinding	N/A

^{*} Unless otherwise noted this cost shall be considered to be a flat rate

NOTE: Prices shall remain firm from date of contract award to December 31, 2022.